10.

11.

12.

13.
14,

QUESTIONS

In which of the following situations, the concept of parimeter is involved :
(a) Carpeting of room? (b) Fencing of plot?
A triangle has sides 6 cm, 8 cm, and 10 cm. What is the perimeter of the
triangle?
Find the perimeter ol a square whose one side is 4 cm long.
Find the perimeter ol the rectangle whose sides are 5 cm and 2 cm.
Find the perimeter of the given triangle :
35cem

dem

Find the perimeter of the rectangle given below :

37 cm

23em

Which of the following figures has greater perimeter?

4cm
4 cm
3. 4cm
(a) (b)
What is the perimeter of a triangle whose all sides are 4.5 cm long?
Find the perimeter of the figure given below :
25em 3em
35¢m 3 em
2em 2om
6.5 cm

The perimeter of the given figure is 26 cm. Find the value of x .
X

8 cm
A farm house is 43 m long and 27 m wide. How many metres of wire is required
for 1encing the farm house twice?
The side of a square park is 40 m. What distance is covered by a boy if he goes
round it twice?
The perimater of a square is 12 em. Find the side of the square.
A man covers 36 m while going round a square plot. What is the length of the
side of the plot?



